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O2ZHun FA R 3,377,000& 3,377
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01 At2 22l b 18,470 17,470 1,000
o2t =gH| 11,970
oMNREE S FE 10,000, 000& 10,000
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o AN ANEEE 2EFH| 1,000, 000& 1,000
O=&l 3,000
o HE Y= 3,000, 000& 3,000
OZx= 3,500
o2a2+ AL EH YXE 500,000 204 1,000
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02 s3=9Hl 30,500 29,500 1,000
OS2 AHA 27,000,000& 27,000
[ DRSaR=au] 1,500,000& 1,500
OAl £ &Hl R X 2,000
o FAMUHAH HAaHl 1,000,000 1,000
o Al ZHl =X 1,000,000& 1,000
03 #Ar2EHI 4,200 4,200 0
OALRZ A =& 1,200,000 1,200
ogoe ¢ A s =& 3,000,000& 3,000
202 O 4 3,480 2,880 600
01 S LHOYI 3,480 2,880 600
OZotHARA: 29 2,500,000& 2,500
O3otH Hge=ad 380,000 380
OMISHEE Z2Fd 600,000 600
301 gEtE A= 96,440 96,440 0
05 8& -0 - -8t3Es243 94,440 94,440 0
o2+ 200,000 »28H x12& 67,200
o040 = 200,000& *28H »200% 11,200
O3 e F4+¢ 20,0002 «28L »12& %23 13,440
ostd g 50,000& =52 2,600
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O=oH 250,000& = 12& 3,000
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N = 0 &8 AH Y H N AN
201798 & 20& LB H HES ~ WES
=M 370
HE: Fo #E Ho £
SRl BIMNHIAYSHSTO) CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
=79 325,971 313,291 12,680
F0 Y Ho &5 273,711 263,271 10,440
HHEMEIAZS(2F7H) 273,711 263,271 10,440
= FHAIRARSY 273,711 263,271 10,440
101 @121l 15,400 12,060 3,340
04 JI2ZtH 22 XNEE 15,400 12,060 3,340
OFAMNEEEY o2 7,200,000 7,200
O3ZIEEFL 2R 7,200,000& 7,200
OE&Es S 1,000,000& 1,000
201 Lt 2| 85,161 83,661 1,500
01 AR 22| bl 24,560 25,560 A 1,000
O =2H| 11,356
o FUSEXN2MNF 22ES 4,900,000& 4,900
oMNREE 5 7¢ 4,107,000& 4,107
0 =TFHARA 2Y9 2,349,000 2,349
O=2&| 4,700
o WY HRFX 3,500,000& 3,500
o &MEZA 1,200,000& 1,200
[ PRI E= 8,504
oiz==2&=4 & DADA 22X H AHI X}
7,504,000 7,504
o232+ ALEH L= 500,000 x2CH 1,000
02 352494l 55,801 53,301 2,500
OS2 22YL A 48,201,000& 48,201
OH = Hl 1,829,000& 1,829
OANE &Y S XY 4,271
o AAIAY FHAHI 1,000,000& 1,000
o0 A& &H|S XYl 3,271,000 3,271
O Xt & By 1,500,000& 1,500
03 HAFS S HI 4,800 4,800 0
OLA2 A FA 1,800,000& 1,800
QHOO < AL & =& 3,000,000& 3,000
202 0db] 4,250 3,650 600
01 2LHOHI 4,250 3,650 600
OSRHAMEL 2 3,000,000 3,000
O27H SR FA 650,000& 650
OAZEHMESE SRF& 600,000& 600
301 dBEtE A= 153,900 153,900 0]
0B ESH-0/&-BtEEEsSEAZ 151,900 151,900 0
o)l 200,000& x45H x12& 108,000
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O&03 200,000& *45% x200% 18,000
Oz &A= 20,000 «45F 128 +23| 21,600
OetE g 50,000 x86H 4,300
09 &AL HI B A S 2,000 2,000 0
OFQ GHAH(AZSE) SHATT 24
2,000,000& 2,000
401 Al HIZ 201 8] 15,000 10,000 5,000
01 A& HI 15,000 10,000 5,000
OYERIAXe 15,000, 000& 15,000
HY2IZH (27H) 52,260 50,020 2,240
Jl2Zd(2+Y) 52,260 50,020 2,240
2zl (272¢) 52,260 50,020 2,240
201 et 1,860 1,860 0
01 At 221l 1,860 1,860 0
OB ==EH| 1,860
o MIIGHMAAFZ 60,000& *23] 120
o foAHEH 2l 145,000 128 1,740
202 4l 38,880 36,720 2,160
02 M0 38,880 36,720 2,160
O AN 180,000& = 18H »12& 38,880
203 R =&t 11,520 11,440 80
01 /122 =4 6,600 6,600 0
O=z78% 6,600,000& 6,600
02 It S =&Y 720 640 80
=7 40,000& x18H 720
04 FN2ELRZ=TH| 4,200 4,200 0
s7H 350,000& =128 4,200
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